®

COMPLETING THE SQUARE ‘ TRANSCR\PT

For q’uadmfic funu&'mns} c.ompli—ﬁ'inﬁ Ehe Squase 1§ about wr'ut'rnj:
| z
Y = ax +bx +¢

in tke -Forw\:

4 = a(x+,o)L+ 9

Consider
- 'A | 2 u

(:c+p) = <x+p)(x+p) - :x.z +,ox+fx+f>z = x +2p=c+f2
This bellf vy Ehat the numlesr 1 the bracket should be

hal{ €he Amounkt o = we have

E*ﬁhel( 2
inz'x + 6w + ¢

4 = (x+3) +§ -9
4 * (x+3)" -4

T‘\& cl s sobbracked an«wa Cx*'g)(x*?\ .[né/O{/‘UC¢S

o term 21 NL\'-LL\ "STNY not 1w the onﬁmx‘. éVn(Jn'on

/ lee. O‘F ‘(3”‘"‘('r\: Y = ~ 3

7 Hinimom ’w'm(:: ("Z)—-4_)
' .




COMPLETING THE SQRUALE ' TRANSCRPT

Cans-'olcf

2 2

( > »r\ = (x—p)()c 'F) = e -px® --,o::c,»t»'o.'L = xz-—Zf:x *Pz
Aﬁk\n the numbelr |n the brackeb ig half the amoummt ot

°* we kwc) and Asa'm an extra berm ¢ Introdoced

which will need to be soltracked.

E*«MH( >

x - &= + I

)

N
3

§

The |6 1g ¢obbracked Lecavie (X—4—>({ -4—) introduces

a Eesrw (‘431 \.Ak\(,l'\ Wil met v Ehe cfl:qi—m( ‘(un;“'ion.

n

(e -4) + 12 - 1¢
(x —4—>Z + 2

1

Line of {'ahme,l:rli x T4

Hinirons paint: (4,2




©,

COMPLETING THE SAQUALE | TRARNSCLIPT

Surnma/31
| }‘F lj,:.' CI*P)L +ﬁ/

'ﬂ\cf\ tk&l( "S :

A e o'tc thmeéﬂj at X = --[3

A minimum Fo‘m" at <"P) 1 )

3

2
Write Ehe ‘pa,(ow;nﬁ £unctions 1n Ehe Lorm: 4= «(x-«-P) +‘V

Iolenl:{(3 the l':urm'-.s Po'm{ at (—P"L)

O\nd t)\& I"’\-e- 0'( 5\3»\“&%/3 ‘& 3 = —P

Sketcl Ehe gqraphs




COMPLETING THE SQUARE

E#AME’&I

D-’-l ~bx +8
(x’K)Z-f—g"ﬁ
\3:: ()L*})z ",

'3:

x =2

(1,-)

Ll.ng o( {U omv\c_f'(\]

M;m‘munvh Poin (‘

@

TRANSCRIPT

E%knl)le Z

Y = %'+ Tx # 10
4= (x+2 “rio - 44

4
g =(x+%)

Line of 53»-\»«&"’3 x = -

—_‘1

“;HOMU"“\ Pm.né'
3
|
.
| 17
|
-7A [ >
\/ &
| a]




COMPLETING: THE SavALE

EXAMP'C 3

43’-‘- 22—1 ~|0> 4+ 17§ |

b:Z[x,z’§X+%_3
- S\ep 1228
g 72 (x-0)%7 %

4 72[—(1'{)2'*;":]

3= 2(x-E) 2

Line of Sjm»‘afr‘} x = %
H;m'muh (:afné (;2 ) \/Z)
|
\ |
5 U
|
|
T
2 % X
|
|
|

®

T RANSCRVPT

Exun,olalf-
4 = —3.1 ¥ l2x +7
4
s+ -ee-1]

j=-3[(x-l)z‘% —+j
y 2 —ZE(x—&)l— '-zfj B

1% - Z(x-z)z-l’ 19

xF2

(2, 14)

Line of Sahmc*’
MAXIIMuh fou'-«('

14

\ 2

SR X1 H




COMPLETING THE SQUARE

Sol\n'nj €, wtiong ?

©

TRANSCRIPT

or X = -—ﬁ. - =72
PA
Ekadeg
DC.-’S‘ of 3 T =2
’Z_Z"Zx—-g':
2 EXAMPI¢7'
(DC-’) -8-1 =0
(DL—I)Z"‘( = 0 xl_l,éx_'_z =0
(-1} =1 (x+3)+2-9 =0
x-l = 23 (x#3)" =7 =0
o = +1 %3 (1*3)1:7
X = 44 orfr x = -2 7L+3 =.":,/.'-7_
x = -3E (T
EAAMPIQQ
1—2"‘31—|0= DLS"Z*-{:‘I—
(x-2)-o-f=0lu x5 -1-73
.
(x_%)l_%-ﬁ =0 /




